No | &K Ad—hk =4 Ba—k =4
@ | 1000 | TU/FC 3vs3 FEESSC | oYz Xk |#JUFC B 8vs 1 EEFSC|ATSI D
@ | 1030 |#UFC A 4vs2 OYzRh| BHESSC | HEFC Ovs1 ATSJIr D| EFEFSC
@ | 11:00 | *U/FC 8vs2 ATSJr @|A. Z.R B|#JFC B1ivs1 KiESC |A.Zz. R A
@ | 11:30 |#UFC A 7vs1 A.Z.R B|ATS Jr @ #EEFC O0vs12 A. Z. R A| Xi&scC
® | 1200 |ATSJr @ 6vs7 #HESSC | TU/FC |HEETFSC 3vs1 KiESC |#JIFC B
® | 1230 |@YyzAk 3vs2 A.Z.R B|#JFC A|ATSIrD ovs 11 A. Z. R A| EEFC
@ | 1310 |ATSUr @ 9vs2 XiEsc | YU/FC |A.zR B 8vs2 {EEFC |#JIFC A
1340 | HFESSC 2vs1 EHEFSC|ATS Jr QAU A+ 13vs0 ATSIrD|A. Z. R B
® | 1410 | <Y/FC Ovs8 HJIFC B| HESSC [BJIFC A Ovs4 A . Z. R Al BJxRt
1440 [ATSor @ 3vs10 A é‘ R lsorc B| xiEsc 1vso #EFCc |AzRrR A
@ | 1510 |#&ESSC 1vs8 AYTRAL|A.Z.R B|HEFSC 1vs4 ATSIrD| XiEsc
@ | 1540 |#JFC B Ovs4 A.Z. R Al OJxR+| RY/FC Ovs 12 FJFC A| ATSIr®D




A < JFC #ESSC ATS Jr @ B BkmE [
< JFC 3 3 8 2 4 6 1
FESSC 3 3 7 6 4 1 2

ATS Jr @ 2 8 6 7 ) - 3

B KIESC #IFC B REFSC i =] (EES=Y-3 [[ELiv
AIESC 11 1 3 0 12 3
MJIFC B 1 1 8 1 6 17 1
REFSC 3 1 18 3 5 2

C AZR B BIFC A OJx X ~EP i (ESS=Y-3 Bz
AZR B 17 2 3 0 7 3
MIFC A 7 1 4 2 6 8 1

O X N85 3 2 2 4 \ 3 -1 2

D AZR A BEFC ATS Jr @ i =] (EFS=Y-3 [[ELiv
AZR A 12 0 11 0 6 23 1
IBRFC 0 12 0 1 0 13 3

ATS Jr @ 0 11 10 3 _10 2




AZR A

<')/FC

HFESSC

ATSJr @

4
0. 12
#IFC A
8 0 4
$#IFC B #IFC A AZR A
AOYz X @E
| 8
0 4
ATSJr @
1 13 0
WEFSC oYXk ATSJr@D
AZR B
10
1 0
Ki&sc
2 8 2
Kig&sc AZRB B EFC



10:00 FC7 0 Jr FC FC Jr
10:30 FC 2 3 Jr FC Jr FC
11.00 FC1 1 SC Jsc| FC SC
11:30 FC 0 9 asc sC FC SC

12:00 SC 8 0 Jr FC FC FC
12:30 isc4 0 FC sC Jr FC
13:10 Jr 0 9 FC SC FC SC Jsc
13:40 FC 2 4 FC FC Sc
14:10 SC 3 2 FC Jsc Jr FC
14:40 FC 2 0 sC SC Jr FC | ATSJr
15:10 3(4) 3(@3) Fc] FC FC FC
15:40 SC o) 0@ Jr FC Jsc FC




FC 70 +7
ATS Jr 0 7 -15
B FC FC
6 0 13 +4
FC 2 3 -7
FC 3 2 +3
C Jsc FC
Jsc 9 0 4 0 +13
FC 3 -10
3 2 -3
D sC FC ATS Jr
sc 13 12 -3
FC 1 2 1
ATS Jr 2 1 +2




ATSJr

i 0,
FC
3 2 1
sc
S 0,
FC
2 4 1
FC
2. L 3.
FC
0 9 1
ATSJr FC FC

SC



